

15) $\int x \sec^2 x dx$ Let $u = x, dv = \sec^2 x dx$
 $du = dx, v = \tan x$
 $= x \tan x - \int \tan x dx = x \tan x - (-\ln|\cos x|) + C = \boxed{x \tan x + \ln|\cos x| + C} = \boxed{x \tan x - \ln|\sec x| + C}$

17) $\int_0^{\pi/3} x \sin x dx$ Let $u = x, dv = \sin x dx$
 $du = dx, v = -\cos x$
 $= [-x \cos x - \int -\cos x dx]_0^{\pi/3} = [-x \cos x + \sin x]_0^{\pi/3} = (-\frac{\pi}{3} \cdot \frac{1}{2} + \frac{\sqrt{3}}{2}) - (0 \cdot 1 + 0) = \boxed{\frac{\sqrt{3}}{2} - \frac{\pi}{6}} = \boxed{\frac{3\sqrt{3} - \pi}{6}}$

19) $\int_1^2 \ln x dx$ Let $u = \ln x, dv = dx$
 $du = \frac{1}{x} dx, v = x$
 $= [x \ln x - \int 1 dx]_1^2 = [x \ln x - x]_1^2 = (2 \ln 2 - 2) - (1 \cdot 0 - 1) = \boxed{2 \ln 2 - 1} = \boxed{\ln 4 - 1}$

22) $\int_1^4 \sqrt{x} \ln \sqrt{x} dx$ Let $t = \sqrt{x}, x = t^2, dx = 2t dt$ If $x = 1, t = 1$
 $x = 4, t = 2$
 $= \int_1^2 t \ln t \cdot 2t dt = 2 \int_1^2 t^2 \ln t dt$ Let $u = \ln t, dv = t^2 dt$
 $du = \frac{1}{t} dt, v = \frac{t^3}{3}$
 $= 2 \left[\frac{t^3}{3} \ln t - \int \frac{1}{3} t^2 dt \right]_1^2 = 2 \left[\frac{8}{3} \ln 2 - \frac{8}{9} - \left(\frac{1}{3} \cdot 0 - \frac{1}{9} \right) \right] = \boxed{\frac{16}{3} \ln 2 - \frac{14}{9}}$

21) $\int_1^4 \sqrt{x} \ln \sqrt{x} dx = \int_1^4 \sqrt{x} \cdot \frac{1}{2} \ln x dx = \frac{1}{2} \int_1^4 \sqrt{x} \ln x dx$ Let $u = \ln x, dv = \sqrt{x} dx$
 $du = \frac{1}{x} dx, v = \frac{2}{3} x^{3/2}$
 $= \frac{1}{2} \left[\frac{2}{3} x^{3/2} \ln x - \int x^{1/2} dx \right]_1^4 = \frac{1}{2} \left[\frac{2}{3} x^{3/2} \ln x - \frac{2}{3} \left(\frac{2}{3} x^{3/2} \right) \right]_1^4$
 $= \left[\frac{1}{3} x^{3/2} \ln x - \frac{2}{9} x^{3/2} \right]_1^4 = \left(\frac{8}{3} \ln 4 - \frac{16}{9} \right) - \left(0 - \frac{2}{9} \right) = \boxed{\frac{8}{3} \ln 4 - \frac{14}{9}} = \boxed{\frac{2}{9} (12 \ln 4 - 7)}$

24) $\int_0^3 x^2 e^{-x} dx = [-x^2 e^{-x} - 2x e^{-x} - 2e^{-x}]_0^3$ ←

$\frac{u}{x^2}$	$\frac{dv}{e^{-x}}$	
$2x$	\oplus	$-e^{-x}$
2	\ominus	e^{-x}
0	\oplus	$-e^{-x}$

 $= (-9e^{-3} - 6e^{-3} - 2e^{-3}) - (0 - 0 - 2 \cdot 1)$
 $= \boxed{2 - 17e^{-3}}$

25) $\int_0^{\pi/3} e^x \sin x dx$

$\frac{u}{e^x}$	$\frac{dv}{\sin x dx}$	
e^x	\oplus	$- \cos x$
e^x	\ominus	$- \sin x$
e^x	\oplus	$- \sin x$

 $\int e^x \sin x dx = -e^x \cos x + e^x \sin x - \int e^x \sin x dx$
 $2 \int e^x \sin x dx = -e^x \cos x + e^x \sin x + C$
 $\int e^x \sin x dx = \frac{1}{2} [-e^x \cos x + e^x \sin x] + C$
 $\Rightarrow \int_0^{\pi/3} e^x \sin x dx = \frac{1}{2} [-e^x \cos x + e^x \sin x]_0^{\pi/3} = \frac{1}{2} \left((-e^{\pi/3} \cdot \frac{1}{2} + e^{\pi/3} \cdot \left(\frac{\sqrt{3}}{2}\right)) - (-1 \cdot 1 + 1 \cdot 0) \right)$
 $= \boxed{\frac{e^{\pi/3}}{4} (\sqrt{3} - 1) + \frac{1}{2}}$

26) use

$\frac{u}{\sin x}$	$\frac{dv}{e^x dx}$	
$\cos x$	\oplus	e^x
$- \sin x$	\ominus	e^x

32) $\int e^{-2x} \sin \frac{x}{2} dx$

$\frac{u}{e^{-2x}}$	$\frac{dv}{\sin \frac{x}{2} dx}$
$-2e^{-2x}$	$\oplus -2 \cos \frac{x}{2}$
$4e^{-2x}$	$\ominus -4 \sin \frac{x}{2}$

OK use

$\frac{u}{\sin \frac{x}{2}}$	$\frac{dv}{e^{-2x} dx}$
$\frac{1}{2} \cos \frac{x}{2}$	$\oplus -\frac{1}{2} e^{-2x}$
$-\frac{1}{4} \sin \frac{x}{2}$	$\ominus \frac{1}{4} e^{-2x}$

$\int e^{-2x} \sin \frac{x}{2} dx = -2e^{-2x} \cos \frac{x}{2} - 8e^{-2x} \sin \frac{x}{2} - 16 \int e^{-2x} \sin \frac{x}{2} dx$

17) $\int e^{-2x} \sin \frac{x}{2} dx = -2e^{-2x} \cos \frac{x}{2} - 8e^{-2x} \sin \frac{x}{2} + C$

$\int e^{-2x} \sin \frac{x}{2} dx = \boxed{-\frac{2}{17} e^{-2x} \cos \frac{x}{2} - \frac{8}{17} e^{-2x} \sin \frac{x}{2} + C} = \boxed{-\frac{2}{17} [e^{-2x} \cos \frac{x}{2} + 4e^{-2x} \sin \frac{x}{2}] + C}$

33) $\int \arcsin x dx$

Let $u = \arcsin x, dv = dx$

$du = \frac{1}{\sqrt{1-x^2}} dx, v = x$

$= x \arcsin x - \int \frac{x}{\sqrt{1-x^2}} dx$ Let $T = 1-x^2, dT = -2x dx$

$= x \arcsin x - (-\frac{1}{2}) \int \frac{1}{\sqrt{1-x^2}} (-2)x dx = x \arcsin x + \frac{1}{2} \int \frac{1}{\sqrt{T}} dT = x \arcsin x + \frac{1}{2} \int T^{-1/2} dT$

$= x \arcsin x + \frac{1}{2} (2T^{1/2}) + C = \boxed{x \arcsin x + \sqrt{1-x^2} + C}$

38) a) $\int (\ln x)^n dx$

Let $u = (\ln x)^n, dv = dx$

$du = n(\ln x)^{n-1} \cdot \frac{1}{x} dx, v = x$

$= x(\ln x)^n - n \int (\ln x)^{n-1} dx$

b) using part a),

$\int (\ln x)^3 dx = x(\ln x)^3 - 3 \int (\ln x)^2 dx$

$= x(\ln x)^3 - 3 [x(\ln x)^2 - 2 \int \ln x dx]$

$= \boxed{x(\ln x)^3 - 3x(\ln x)^2 + 6(x \ln x - x) + C}$

$= \boxed{x(\ln x)^3 - 3x(\ln x)^2 + 6x \ln x - 6x + C}$

REMARK

we could also find this integral by letting $T = \ln x$, so $x = e^T, dx = e^T dt$
 To get $\int (\ln x)^3 dx = \int T^3 \cdot e^T dt$ and then using tabular integration

39) $\int \cos \sqrt{x} dx$ Let $T = \sqrt{x},$ so $x = T^2, dx = 2T dt$

$= \int \cos T \cdot 2T dt = 2 \int T \cos T dt$ Let $u = T, dv = \cos T dt$

$du = dT, v = \sin T$

$= 2 [T \sin T - \int \sin T dt] = 2 [T \sin T - (-\cos T)] + C = \boxed{2 [\sqrt{x} \sin \sqrt{x} + \cos \sqrt{x}] + C}$

40) $\int x^5 e^{x^2} dx$ Let $T = x^2, dT = 2x dx$

$= \frac{1}{2} \int x^4 e^{x^2} \cdot 2x dx = \frac{1}{2} \int T^2 e^T dt$

$= \frac{1}{2} [T^2 e^T - 2T e^T + 2e^T] + C$

$= \boxed{\frac{1}{2} x^4 e^{x^2} - x^2 e^{x^2} + e^{x^2} + C}$

$\frac{u}{T^2}$	$\frac{dv}{e^T dt}$
$2T$	$\oplus e^T$
2	$\ominus e^T$
0	$\oplus e^T$

49) $\int x e^{-2x} dx$ let $u = x, dv = e^{-2x} dx$
 $du = dx, v = -\frac{1}{2} e^{-2x}$
 $= -\frac{1}{2} x e^{-2x} - (-\frac{1}{2}) \int e^{-2x} dx = \boxed{-\frac{1}{2} x e^{-2x} + \frac{1}{2} (-\frac{1}{2} e^{-2x}) + C} = \boxed{-\frac{1}{2} x e^{-2x} - \frac{1}{4} e^{-2x} + C}$

50) $\int x e^{-2x^2} dx$ let $u = -2x^2, du = -4x dx$
 $= -\frac{1}{4} \int e^{-2x^2} (-4x) dx = -\frac{1}{4} \int e^u du = -\frac{1}{4} e^u + C$
 $= \boxed{-\frac{1}{4} e^{-2x^2} + C}$

69) use $\frac{u}{x} \frac{dv}{e^{-2x} dx}$
 $\frac{1}{0} \int -\frac{1}{2} e^{-2x}$
 $\frac{1}{1} \int -\frac{1}{4} e^{-2x}$

53) $\int 2x \sin(x^2) dx$ let $u = x^2, du = 2x dx$
 $= \int \sin(u) \cdot 2x dx = \int \sin u du = -\cos u + C = \boxed{-\cos(x^2) + C}$

54) $\int 2x^2 \sin x dx = 2 \int x^2 \sin x dx$
 $= 2 \left[-x^2 \cos x + 2x \sin x + 2 \cos x \right] + C$
 $= \boxed{-2x^2 \cos x + 4x \sin x + 4 \cos x + C}$

$\frac{u}{x^2} \frac{dv}{\sin x dx}$
 $2x \int -\cos x$
 $2 \int -\sin x$
 $0 \int \cos x$

65) $\int_1^4 e^{\sqrt{x}} dx$ let $\tau = \sqrt{x}, x = \tau^2, dx = 2\tau d\tau$ if $x=1, \tau=1$
 $x=4, \tau=2$
 $= \int_1^2 e^{\tau} \cdot 2\tau d\tau = 2 \int_1^2 \tau e^{\tau} d\tau$ $u = \tau, dv = e^{\tau} d\tau$
 $du = d\tau, v = e^{\tau}$
 $= 2 \left[\tau e^{\tau} - \int e^{\tau} d\tau \right]_1^2 = 2 \left[\tau e^{\tau} - e^{\tau} \right]_1^2 = 2 \left((2e^2 - e^2) - (e - e) \right) = \boxed{2e^2}$

42) (ALTERNATE SOLUTION)
 $\int x^5 e^{x^2} dx = \frac{1}{2} \int x^4 \cdot e^{x^2} \cdot 2x dx$
 $= \frac{1}{2} \left[x^4 e^{x^2} - 4 \int x^3 e^{x^2} dx \right]$
 $= \frac{1}{2} x^4 e^{x^2} - 2 \cdot \frac{1}{2} \int x^2 \cdot e^{x^2} \cdot 2x dx$
 $= \frac{1}{2} x^4 e^{x^2} - \left[x^2 e^{x^2} - \int e^{x^2} \cdot 2x dx \right]$
 $= \boxed{\frac{1}{2} x^4 e^{x^2} - x^2 e^{x^2} + e^{x^2} + C}$

let $u = x^4, dv = e^{x^2} \cdot 2x dx$
 $du = 4x^3 dx, v = e^{x^2}$

 let $u = x^2, dv = e^{x^2} \cdot 2x dx$
 $du = 2x dx, v = e^{x^2}$